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FINDING FUNCTION DOMAIN FROM GRAPH

MATCHING GAME
The goal of the puzzle is to make correct pairs of questions and answers with a minimalamount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

It is by logic that we prove, but by intuition that we discover.
Henri Poincare, French mathematician and polymath.Use the given graphs to find domains of corresponding functions and match each function with its domain.
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Domains:a R(−∞;−2] ∪ [2;∞)(−∞;−2) ∪ (2;∞)Rr {0}(−2; 2)(0;∞)b R(−∞;−2] ∪ [2;∞)(−∞;−2) ∪ (2;∞)Rr {0}(−2; 2)(0;∞) c R(−∞;−2] ∪ [2;∞)(−∞;−2) ∪ (2;∞)Rr {0}(−2; 2)(0;∞)d R(−∞;−2] ∪ [2;∞)(−∞;−2) ∪ (2;∞)Rr {0}(−2; 2)(0;∞) e R(−∞;−2] ∪ [2;∞)(−∞;−2) ∪ (2;∞)Rr {0}(−2; 2)(0;∞)f R(−∞;−2] ∪ [2;∞)(−∞;−2) ∪ (2;∞)Rr {0}(−2; 2)(0;∞)



Perfect, keep it up!Great, now you can try solving one of
the Millennium Prize problems!

Wait! Sheldon might get jealous!Super-duper!
That is what I call a fine job!

Good job, buddy!A little harder and you would kill it. Try
it again.

It almost couldn’t have been better.
Almost.

You made some mistakes,
but you still deserve praise.

That’s like when you end up second in a
competition when you could have won it.
Good job, but you are no Einstein yet!Don’t worry, your result is more than

half correct.
Making mistakes is better than faking

perfection.
Hang in there, there is space for

improvement.
Everyone can make a mistake. What’s
important is to learn from it and don’t

give up.

Not great, not terrible.
You are somewhere in the middle.
Just a little better and you will be

average.
Pity, you might need to practice more.You made a lot of mistakes.

You aren’t good at this yet.
You got it. Don’t throw in the sponge!You avoided an F, but that doesn’t mean

you don’t have to study more.
Have you ever seen the way a chicken

flies?
You solve math problems that way. . .

What a calamity!Mission failed. We’ll get them next time.The awkward moment, when the only
thing on your exam you know is your

name.

For this test - the goose is in the oven!
Try another test.




